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Match #1


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Arias in it include ‘Fuor del mar’ (fwar del mar) and ‘Torna la pace’ (TOR-nah lah PAH-chay). Its 24-year-old composer made significant changes to Father Varesco’s libretto. The villains in this opera include the princess Elettra and a sea serpent sent by Neptune. At the end of what first serious Mozart opera does the title character yield rule of Crete to his daughter-in-law Ilia and son Idamante? 

ANSWER: Idomeneo (ee-doh-meh-NAY -oh)

2.
It first appeared in The New Yorker in October 1997, earning that magazine the National Magazine Award for fiction. Its two protagonists met in 1963 and conducted an affair over twenty years despite being married to others. An expanded version appeared in 1999’s Close Range: Wyoming Stories. What is this Annie Proulx (PROOL) short story about the love between Jake Twist and Ennis del Mar? 

ANSWER: “Brokeback Mountain”

3.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  3x minus 2y equals 29 and 4x plus 2y equals 6, which when solving for x, simplifies into 7x equals 35.

ANSWER: x equals 5 and y equals -7 (can be said in either order)

4.
His Codex Leicester belongs to Bill Gates, but is annually put on public display. In 1502, he designed a bridge to span Istanbul’s Golden Horn; 400 years later, the Turkish government will be building it. In addition to a two-man tank, he also designed prototypes for helicopters and hang gliders. What Renaissance man drew the Vitruvian Man and made artwork including Virgin of the Rocks, The Last Supper, and Mona Lisa? 
ANSWER: Leonardo da Vinci (accept either)

5.
His illegitimate son William de Longespee was not a threat to the succession, but his other illegitimate son, the Archbishop of York, was seen as a threat. By the end of his life, he was defeated by his son and was a virtual vassal of French king Philip Augustus. Four of his knights killed Thomas a Becket in 1170. The first Plantagenet (plawn-tah-zheh-NAY) to rule England was this second husband of Eleanor of Aquitaine. Who was the father to future English Kings John and Richard the Lion-Hearted? 

ANSWER: Henry II
6.
It is the fruit of the cucurbita pepo plant, and Morton, Illinois, declares itself the ‘capital’ of this edible. Its seeds are a good source of iron, zinc, fatty acids, potassium, and magnesium.  Chucking competitions involve building devices to hurl one as far as possible. Name this sometimes green, but usually orange, squash gourd associated with Halloween and Jack-o-lanterns.

ANSWER: pumpkin(s)
7.
Salvador Lutteroth was the first major promoter of this activity, whose icons include Blue Demon, Mil Máscaras, and El Santo. Important matches in this event allow the winner to either shave the loser’s hair or take off the loser’s mask. Meaning ‘free fighting,’ what is the name for professional wrestling in Mexico and Latin America? 
ANSWER: lucha libre (loo-chah lee-bray)

8.
After Pope John XXII condemned the Franciscans, this friar and philosopher accused the Pope of heresy, was excommunicated, and wrote mostly on politics after that. He is considered a father of epistemology, since he argued that universals did not have separate form in his Summa Logicae. The maxim, ‘entities should not be multiplied beyond necessity,’ is a statement of what man’s ‘Razor?’
ANSWER: William of Ockham (AW-kum)

9.
This grammatical concept has two broad categories: realis and irrealis. Some less common ones include the energetic, which is used to express certainty or emphasis; the dubitative, which expresses doubt; and the optative, which expresses hope. The subjunctive, imperative, and indicative are the most common of what verb aspect? 

ANSWER: mood(s)

10.
Recent studies have shown that its founding may have been on August 31, 1142, and not in the 15th century as previously believed. Calling itself the Haudenosaunee (how-day-noh-SOW-nee), its government is formed around the Great Law of Peace. Its 50-member Grand Council is elected by five of its six components; the Tuscarora get no vote. What is this confederation of six Native American tribes in upstate New York? 

ANSWER: Iroquois Confederacy

11.
Albite, labradorite, and bytownite are all varieties of this mineral group. Its classes are determined by the amounts of orthoclase, albite, and anorthite in a particular sample. It makes up 60% of the Earth’s crust and is a ‘6’ on the Mohs scale. What mineral group’s name comes from German words for ‘a rock that doesn’t contain ore’ and ‘field?’ 

ANSWER: feldspar
12.
By the end of this novel, the protagonist has named his son Quincey in honor of their American friend who was killed by Gypsies during the final battle. The title character arrives in England aboard the Demeter and uses the help of R.M. Renfield once he arrives. He then turns Arthur Holmwood’s fiancée, Lucy Westenra, into one of his kind. Jonathan and Mina Harker need Dr. Abraham van Helsing’s help to defeat the title character in what novel by Bram Stoker about a legendary vampire? 

ANSWER: Dracula
13.
It takes its first two clauses from chapter 1, verse 28 as well as chapter 1, verse 42 of the Gospel of Luke. Those two verses are part of, respectively, the Annuciation and a greeting from Elizabeth to the prayer’s recipient. Its ending was added at the Council of Trent, as its recipient ‘possesses exalted merits with God.’ It ends, ‘Pray for us sinners, now and at the hour of our death.’ What prayer, repeated many times during the Catholic Rosary, begins, ‘(BLANK), full of grace, the Lord is with thee?’ 

ANSWER: Hail Mary or Ave Maria
14.
In the last year of his life, he organized the Poor People’s Campaign, which he called the ‘second phase’ of his struggle. In 1964, he was the youngest-yet winner of the Nobel Peace Prize. In 1956, he organized the successful boycott of the bus system in Montgomery, Alabama. In 1963, he helped organize the March on Washington for Jobs and Freedom. In 1965, he sought to integrate Chicago’s suburbs. Riots erupted in dozens of cities after the April 4, 1968, assassination of what civil rights leader in Memphis? 


ANSWER: Martin Luther King, Jr. (accept MLK)

15.
A relative of this mammal, Indricotherium, may have been the largest land mammal ever to live. This large herbivore lives in Africa and southern Asia and has five surviving species:  the black, the white, the Indian, the Javan, and the Sumatran. It is very close to extinction in the wild due to the alleged medicinal properties of its horn. Name this odd-toed ungulate whose name is Greek for ‘horned-nose.’
ANSWER: rhino or rhinoceros
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
The religion of Bokononism and the substance ice-nine are mentioned in what book by Kurt Vonnegut? 

ANSWER: Cat’s Cradle
1B.
THIS IS A COMPUTATION QUESTION. If A = 1, B = 2, etc., through Z = 26, what is the numerical value of D to the C power plus B to the E power?

ANSWER: 96
2A.
What European nation is in danger of breaking apart, due to stress between its Flemish and Walloon communities? 


ANSWER: Belgium 
2B.
The campaign manager of William McKinley’s 1896 Presidential campaign was what ‘kingmaker’ and Senator from Ohio?

ANSWER: Mark Hanna
3A.
In what geological period following the Tertiary are we currently living?

ANSWER: Quaternary
3B.
What 2002 Heisman winner, a graduate of Southern Cal, is the current starting quarterback for the Cincinnati Bengals? 


ANSWER: Carson Palmer
4A.
The replacement for Hannibal Hamlin was what man, the first President to be tried before the Senate on impeachment charges? 

ANSWER: Andrew Johnson
4B.
The Apollo 11 mission made its landfall in what lunar sea? 

ANSWER: Sea of Tranquility or Mare Tranquillitatis 

5A.
THIS IS A COMPUTATION QUESTION. What is the sum of the integers from 20 to 35?

ANSWER: 440
5B.
What word refers to the remainder after deductions, as with your paycheck, or to a bag made from mesh used to catch butterflies and fish? 

ANSWER: net
6A.
The Praetorian commander Sejanus attempted to overthrow what Roman Emperor that reigned before Caligula and after Augustus? 

ANSWER: Tiberius Claudius Nero or Tiberius Caesar Augustus
6B.
What element is the end product of the uranium decay series?

ANSWER: lead
7A.
What law states that for every action there is an equal and opposite reaction?

ANSWER: Newton’s third law of motion

7B.
If a Spanish speaker wants to say, “to the left,” how would she say it?

ANSWER: a la izquierda (ah lah ees-kee-ay-dah) (prompt on partial answer)

8A.
The Templar Brian de Bois-Guilbert (gheel-BAIR) falls in love with Rebecca of York, and the Lady Rowena marries the title character, in what novel by Walter Scott?

ANSWER: Ivanhoe
8B.
THIS IS A COMPUTATION QUESTION. Solve for x.  16x plus 24 equals 5x minus 9.

ANSWER: x equals -3
9A.
It actually debuted a few hours after its composer’s Sixth, or Pastoral, Symphony. What work is best-known for its opening four notes? 

ANSWER: Beethoven’s Fifth Symphony

9B.
The Valkyries escort the souls of heroes fallen in battle to what hall belonging to Odin? 
ANSWER: Valhalla
10A.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (3, 9) and (9, 1)?

ANSWER: 10 units

10B.
What political club was closed down after the fall of Robespierre, and is today associated with left-wing extremists of any stripe? 

ANSWER: Jacobin(s)

Third period, 15 toss-ups, 10 points each

1.
The international version was started by the United Kingdom in 1717. A severe deflation in the 1890s under it was corrected by the Kimberley and Klondike discoveries.  It was abandoned for good with the collapse of the Bretton Woods system in 1971.  What monetary system allowed exchanging one unit of currency for a fixed amount of gold? 

ANSWER: gold standard
2.
An insurance salesman uses this word to describe a type of life insurance where, for a fixed period, the premium stays the same. A mathematician uses it to denote one of the items in a series. A politician uses it to denote the length of time he or she is elected to serve. What word does a prisoner use to denote how long he or she will be in jail? 

ANSWER: term
3.
Major bodies of water in this country include Lake Biwa and the Seto Inland Sea. The longest river is the Shinano. Plains such as the Kinki and Kanto contain most of its 127 million people. Divided into 47 prefectures, what country consists of four main islands and includes cities such as Osaka, Kyoto, and the capital, Tokyo? 
ANSWER: Japan
4.
This movie’s title figure rises to power after the death of Bumpy Johnson. Its title figure abandons a quiet lifestyle to attend a Muhammad Ali fight in a fur coat and hat. Nicky Barnes starts competing with the title figure, who also bribes the corrupt Detective Trupo. When American forces leave Vietnam, the title figure finds it harder to smuggle ‘Blue Magic’ heroin into the U.S. In what Ridley Scott movie does Russell Crowe play detective Richie Roberts and Denzel Washington play drug lord Frank Lucas? 

ANSWER: American Gangster
5.
Consisting of around 350 species of the Salix genus, this deciduous tree is usually found in moist soils.  Smaller types of it are called osiers.  It is often used in basket weaving and its bark can be used to produce aspirin.  Name this tree whose types include white, Peking, dwarf, purple, net-leaved, pussy, and weeping.

ANSWER: willow
6.
A special red briefcase known as the ‘Budget Box’ is among the accoutrements of this office, which prepares a Pre-Budget Report and a Budget. Its current occupant, Alistair Darling, took office on June 28, 2007. Its power was reduced in 1997 when the Bank of England was given independent control of interest rates. What position in the British government is roughly equivalent to Secretary of the Treasury? 

ANSWER: Chancellor of the Exchequer
7.
It started as a form of UNIX called Berkeley Software Distribution and was called Nextstep. Current versions have the popular names Cheetah, Puma, Jaguar, Tiger and soon to be Leopard. Name this operating system created by Apple for users of their computers.


ANSWER: Mac OS X

8.
The Lueneburg manuscript of 1445 says that on June 26, 1284, 130 children were seduced by someone wearing multi-colored clothing and were lost in nearby hills. The vermin associated with this story only appeared in the late 16th century. In what story, retold by the Brothers Grimm, do the citizens of a German town refuse to pay the man whose flute playing had rid the town of rats? 

ANSWER: The Pied Piper of Ham(e)lin (accept The Rat Catcher of Hamelin)
9.
The narrator and his friends collected Exhibits 1 through 98 about a family in their neighborhood. The book is set in Grosse Pointe, Michigan, during the 1970s. Two events trigger the downward spiral in this book: Trip Fontaine and Lux have sex, and Cecelia jumps from a second story window, ending her life. In Jeffrey Eugenides book, made into a Sofia Coppola film, do the five Lisbon sisters all kill themselves? 

ANSWER: The Virgin Suicides
10.
It was discovered by four boys in 1940, but was closed to the public in 1963 due to the damage caused by carbon dioxide from its visitors. Its Great Hall of the Bulls contains a 17-foot-long bull, one of its estimated 2,000 paintings. Its ‘The Crossed Bison’ demonstrates skill with perspective not seen again for another 16,000 years. What are these cave paintings in southwestern France?

ANSWER: Lascaux (lah-skoh) cave paintings

11.
This city celebrated its 1,500th anniversary in May 1982. Its tourist landmarks include the October Palace, the Golden Gate, and a one square mile open-air Museum of Folk Architecture. Kreschatyk Street and Independence Square are located at its center. What city, located on the Dnieper River, is the capital of Ukraine? 

ANSWER: Kiev, Ukraine

12.
From the Greek for “to put heat into”, it will continuously decrease to its minimum value and maintain that value at equilibrium. It can be defined as being equal to U plus pV, where U is internal energy, p is pressure, and V is volume.  Name this term that describes the thermodynamic potential of a system that is abbreviated H or delta H.

ANSWER: enthalpy
13.
One of side length x has a surface area of x squared times the square root of 3 and a volume of one-twelfth times x cubed times the square root of 2.  It is its own dual and has six edges and four vertices.  Name this Platonic solid that consists of four triangular faces.

ANSWER: tetrahedron
14.
This book was instrumental in banning the checkrein. Told in a first-person narrative, its protagonist spends his youth on an English farm with his mother Duchess and half-brother Rob Roy. He works for the Earl of W, Jakes, and Nicholas Skinner, where he meets friends such as Peggy and Captain. He retires happily to the countryside with friends such as Justice. Anna Sewell’s only novel is what book, subtitled The Autobiography of a Horse? 

ANSWER: Black Beauty
15.
In 1992, this event was completely ignored: President Bush was unopposed and Tom Harkin’s presence meant no Democrats competed. The Republican version simply has attendees cast a secret ballot, while the Democratic version involves preferences, viability, and multiple ballots. It’s actually held every two years, although the media only focuses on the one held during Presidential election years. What event, along with the New Hampshire primary, usually kicks off the Presidential selection process? 

ANSWER: Iowa caucuses
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Its molecular mass is 84 and it is a byproduct of the Solvay process. It is soluble in water and is a white crystalline solid that often appears as a fine powder. Its uses include acid neutralization, cooking, and deodorizing.  Name this compound with formula NaHCO3 that is also known as baking soda.

ANSWER: sodium bicarbonate (accept baking soda before mentioned)

2.
She was discovered playing the Swan Queen in a ballet recital in Burbank, California. Neil Sedaka wrote the song ‘Happy Birthday Sweet Sixteen’ for her. Her own top-20 songs included ‘Pineapple Princess,’ ‘Tall Paul,’ and ‘First Name Initial.’ She appeared in ‘classics’ such as Muscle Beach Party and Beach Blanket Bingo with Frankie Avalon. Who was this most famous of the original Mouseketeers? 

ANSWER: Annette Funicello (accept either)
3.
THIS IS A COMPUTATION QUESTION. If Dice-K allows 70 earned runs in 180 innings, what is his ERA, which equals earned runs per nine innings?

ANSWER: 3.50 or 3.5
4.
He hasn’t written any plays since 2003’s Rose’s Dilemma, although he did write the screenplay for 2007’s The Heartbreak Kid. He won a Pulitzer Prize for 1991’s Lost in Yonkers. His character Eugene Jerome appears in Brighton Beach Memoirs, Biloxi Blues, and Broadway Bound. What playwright wrote Barefoot in the Park and The Odd Couple?

ANSWER: Neil Simon
5.
His White Revolution brought modernization, but after the mid-1970s, he abolished parties other than the Rastakhiz. He celebrated 2,500 years of monarchy in his country, but died a year after being overthrown. Despite claiming to be a constitutional monarch, he assumed most power after the overthrow of Mohammad Mossadegh. Who was overthrown in the Islamic Revolution of 1979 and was the last Shah of Iran?  

ANSWER: Mohammad Reza Shah Pahlavi (accept either Mohammad Reza or Pahlavi)
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

